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1. The relation between time and distance for a particle is given
in the following table :—

Time in seconds Rl Al et ST R S 8 -0 140
Distance in cm. g0 79 74 65 Hp 40 25 15 6. - 1 =8

Find its average speed for the whole interval and also its speed at
0-45 second. Determine approximately the times at which the 8
speed of the particle is equal to its average speed over the whole
interval.

9. A motor-car travelling at a speed of 30 miles an hour on a road
running B.W. crosses a road running N.S. just when a gecond motoreat
travelling on the N.S. road at a speed of 45 miles an hour is 220 yards
from the intersection of the two roads. What is the relative speed of
the two cars 2 Obtain by a graphical construction the least distance
hetween them.

3. Establish an expression for the distance travelled in ¢ seconds
by a particle whose initial velocity is u ft. per second and which 8
subject to a uniforn aceeleration of a ft. per second per second.

4. A train running between two stations A and B starts and col:
tinues to move with a uniform acceleration of 4 ft. per sec, per s
for 11 seconds ; it then moves with uniform speed for 2 minutes and
comes to rest at B with uniform retardation in 161 seconds. What is
the distance between A and B 1
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& (hven that the acceleration of a body varies as the force applied,
‘that. a poundal is approximately equal to the weight of half an
Why ig this unit of force introduced into dynamies ?

A motor-car of weight 15 ewt. has its speed reduced from 45
 per hour to 20 miles per hour in a distance of 39 yards. Find
magnitude of the uniform force in Ibs. weight which should be
slied to produce this retardation.

b

= [f ABC be a uniform triangular lamina and D and E be the
lle points of the sides AB and AC, prove that the centre of gravity
o lamina lies at the intersection of BE and (D. Find the centre

avity of the trapezium B( ED.

| Determine the magnitude and position of the resultant of two
s 87 Ib.and 53 Ib. which make an angle of 1207 with each other,
 from a graphical construction or by calculation,

, Derive the formula for the acceleration of the masses in
ood’s machine. Point out in what respect the conditions in
" actual experiment differ from those assumed in the derivation of

fu_rmn la.

A tennis ball served horizontally from a height of 8 feet
ol to the side lines, strikes the ground 60 feet away. What was
fime of flight, its initial speed, its final o locity t  |g=321t. [sec?.]




